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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are --—---—-—- .

1) consistent 2) distinct 3) temporary 4) adequate

2- The hurricane would not have had such a/an ---------- effect on the coastal village had
the storm surge not arrived during an abnormally high tide.
1) devastating 2) ultimate 3) calculating 4) obligatory

3- Federica expressed doubt about the existence of true altruism, claiming that no one
makes a ---------- without expecting to receive something in return in one form or
another.
1) facility 2) hypothesis 3) premise 4) sacrifice

4- As a supporter of the value of free trade, Bennett was often called upon to give
speeches around the world ---------- the virtues of unencumbered commerce.
Iy monitoring 2) purchasing 3) praising 4) exchanging

5- The efforts to revive the local economy after the departure of the town’s largest
employer were eased by the construction of a new arts center that would infuse the

community with much-needed ---------- .
1) revenue 2) scheme 3) schedule 4) survival

6- Eagerly advocating rehabilitation, Gena has always believed that individuals who have
been imprisoned deserve the opportunity to return to society as ---------- citizens.
1) voluntary 2) crucial 3) productive 4) internal

7- With -------e-- approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
1) intrinsic 2) fanatical 3) sporadic 4) unanimous

8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis” suggests that excessively sanitary conditions can ----------- a
person’s resistance to disease.
1) initiate 2) diminish 3) abandon 4) undertake

9- One popular misconception is that these subsidies produce lower food prices, and so
are a --------- to consumers. This analysis ignores the fact that consumers are also
paying for these subsidies through taxes.
1) transfer 2) device 3) boon 4) status

10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
books that ------- to a wide variety of readers.
1) appeal 2) attribute 3) appear 4) devote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) ---------- by cities. In a vicious circle,
climate change will increase energy demand for air conditioning in cities, (12) ---------- will
add to greenhouse gas emissions. It could also raise temperatures in urban areas (13) ----------
2-6 °C. “Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas,

reducing agricultural yields. increasing health risks and (14) ---------- tornadoes and
thunderstorms. (15) ---------- on urban water supplies are expected to be dramatic,” the report
says. Cities like New Delhi, in the drier areas, will be hit particularly hard.

11- 1) be shaped 2) shaped 3) is shaped 4) be shaping

12- 1) where they 2) they 3) that 4) which

13- 1) high up 2) by 3) for 4) at

14- 1) to produce 2) and produce 3) and producing 4) which produces

15- 1) The impacts of climate change 2) The climate change impact

3) The impact changes in climate 4) The change in climate impact



Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheet.

Passage 1

Some mathematicians are of the opinion that the doing of mathematics is closer to discovery
than invention. These mathematicians believe that the detailed and precise results of
mathematics may be reasonably taken to be true without any dependence on the universe in
which we live. For example. they would argue that the theory of the natural numbers is
fundamentally valid, in a way that does not require any specific context. Some mathematicians
have extrapolated this viewpoint that mathematical beauty is truth further, in some cases
becoming mysticism. Pythagoras believed in the literal reality of numbers. The discovery of
the existence of irrational numbers was a shock to them - they considered the existence of
numbers not expressible as the ratio of two natural numbers to be a flaw in nature. From the
modern perspective Pythagoras™ mystical treatment of numbers was that of a numerologist
rather than a mathematician. In Plato’s philosophy there were two worlds, the physical one in
which we live and another abstract world which contained unchanging truth, including
mathematics. He believed that the physical world was a mere reflection of the more perfect
abstract world.

16- Which of the following is TRUE according to the passage?
1) The validity of the natural number theory is arguably independent of a specific context.
2) Discovery, and not invention, is the main concern and objective of mathematicians.

3) Mysticism and mathematical beauty are generally taken to be affecting each other.
4) Mathematical results have little to do with the social context we live in.

17- It is stated in the passage that ------------ .
1) Pythagoras originally developed the idea of the literal reality of numbers
2) Pythagoreans tried to devise a system which could account for irrational numbers
3) Pythagoras believed that he was a numerologist rather than a mathematician
4) Pythagoreans were extremely troubled by the fact that irrational numbers actually

existed
18- The word “extrapolated” in line 5 is closest in meaning to ------------ .
1) explained 2) exceeded 3) inferred 4) improved
19- As Plato argued, mathematics ------------ .

1) is physical rather than a philosophical concept

2) belongs to a world different from the physical world in which we live

3) seems to be elusive as it is subject to perpetual change

4) is affected by the very existence of unchanging truth contained in the abstract world
20. From the last sentence in the passage, “He believed that the physical world was a

mere reflection of the more perfect abstract world,” we realize that Plato ------------ .

1) actually insinuated that there is no abstract world

2) stated that the features of our physical world mirror those of another world

3) believes that the two worlds mentioned have nothing to do with one another

4) did his best to account for the world we live in though the medium of mathematics
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Passage 2

In mathematics, intuitionism is a program of methodological reform whose motto is that “there
are no non-experienced mathematical truths” (L.E.J. Brouwer). From this springboard.
intuitionists seek to reconstruct what they consider to be the corrigible portion of mathematics
in accordance with Kantian concepts of being, becoming, intuition, and knowledge. Brouwer.
the founder of the movement, held that mathematical objects arise from the a priori forms of
the volitions that inform the perception of empirical objects. Leopold Kronecker said: “The
natural numbers come from God, everything else is man’s work.”A major force behind
Intuitionism was L.E.J. Brouwer, who rejected the usefulness of tormalized logic of any sort
for mathematics. His student Arend Heyting. postulated an intuitionistic logic, different from
the classical Aristotelian logic; this logic does not contain the law of the excluded middle and
therefore frowns upon proofs by contradiction. The axiom of choice is also rejected in most
intuitionistic set theories, though in some versions it is accepted. Important work was later
done by Errett Bishop, who managed to prove versions of the most important theorems in real
analysis within this framework. In intuitionism, the term “explicit construction™ is not cleanly
defined, and that has led to criticisms. Attempts have been made to use the concepts of Turing
machine or computable function to fill this gap, leading to the claim that only questions
regarding the behavior of finite algorithms are meaningfu! and should be investigated in
mathematics!

21- The words 'this springboard' in line 2 refer to a(n) ------------ .
1) reform 2) truth 3) intuition 4) motto
22- Which of the following about Brouwer is TRUE according to the passage?
1) Brouwer thought that formalized logic is not essential to development of mathematics.
2) Intuitionism is based on the reconstruction of the Kantian concepts of being and
becoming.
3) Brouwer believed that volitions give rise to the development of a priori forms.

4) The perception of empirical objects, according to Brouwer, is, in fact, a mathematical
volition.

23- The passage states that intuitionism ~----------- .
1) covers the Aristotelian logic at some points
2) is not founded on the rule of proof by contradiction
3) does not favor the law of the excluded middle
4) seems to accept the axiom of choice in all its versions

24- The word “corrigible” in line 3 is closely related to the verb -----—------ .
1) argue 2) repair 3) examine 4) prove
25- It is mentioned in the passage that ------------ .

1) the theorems proved by Bishop does seem to the author to have been of any
significance

2) Intuitioinistic set theories are all in close relationship with the axiom of choice
3) concepts of Turing machine can be used to help clarify the term “explicit construction™
4) it is axiomatic that mathematics is to deal with finite algorithms only
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Passage 3

Social constructivism or social realism theories see mathematics primarily as a social construct,
as a product of culture, subject to correction and change. Like the other sciences, mathematics
is viewed as an empirical endeavor whose results are constantly evaluated and may be
discarded. However, while on an empiricist view the evaluation is some sort of comparison
with 'reality’, social constructivists emphasize that the direction of mathematical research is
dictated by the fashions of the social group performing it or by the needs of the society
financing it. However, although such external forces may change the direction of some
mathematical research, there are strong internal constraints—the mathematical traditions,
methods, problems, meanings and values into which mathematicians are enculturated—that
work to conserve the historically defined discipline. This runs counter to the traditional beliefs
of working mathematicians, that mathematics is somehow pure or objective. But social
constructivists argue that mathematics is in fact grounded by much uncertainty:  as
mathematical practice evolves, the status of previous mathematics is cast into doubt, and is
corrected to the degree which is required or desired by the current mathematical community.
This can be seen in the development of analysis from reexamination of the calculus of Leibniz
and Newton. They argue further that finished mathematics is often accorded too much status,
and folk mathematics not enough, due to an over-emphasis on axiomatic proof and peer review
as practices. The social natue of mathematics is highlighted in its subcultures.

26- Social constructivists argue that the direction of mathematical research is determined
by ----------- .
1) correction and change 2) need and fashion

3) evaluation and error 4) constructs and results
27- According to social constructivists -=---------- .

1) internal constraints, no matter show strong they are, have no bearing on mathematical
research

2) social realism theories are in harmony with the traditional beliefs of working
mathematicians

3) mathematical research findings are subject to evaluation and may be discarded at times

4) mathematics is a science that is unique, compared with other sciences

28- The word “they” in line 15 refers to -------u---- .
1) traditional mathematicians 2) Leibniz and Newton
3) mathematical community 4) social constructivists
29- Which of the followings , according to social constructivists, require more attention?
1) Folk mathematics 2) Peer review practices
3) Pure mathematics 4) Axiomatic proof
30- The word “which” in line 13 refers to a --~~--v---- .

1) mathematics 2) status 3) practice 4) degree
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1392 Jlw i, csowlivin,S ugo;l WVlgw 3,dS sasliwe

http://92.242.195.235/KeyArshad/NOET/Questionskey.aspx

1392 Ul iy (e lickis; 1S U051 &V Igans AkS

il 09,8 Qolisuwly o) louis a8 g9 ilsiol @i, pU il @i, AS
b psle 1 ol acgozo 1208
o, lowi WS o) lowis ;S o) louis AUy S o, louis ;S o) lowis S
Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo

1 2 31 2 61 3 91 2 121 3

2 1 32 3 62 2 92 1 122 1

3 4 33 1 63 1 93 4 123 4

4 3 34 3 64 2 94 1 124 4

5 1 35 3 65 3 95 4 125 2

6 3 36 2 66 1 96 2 126 1

7 4 37 2 67 3 97 3 127 1

8 2 38 2 68 4 98 1 128 2

9 3 39 1 69 3 99 4 129 3
10 1 40 4 70 2 100 4 130 2
11 1 41 4 71 3 101 2

12 4 42 1 72 2 102 3

13 2 43 4 73 4 103 1

14 3 44 1 74 2 104 1

15 1 45 4 75 1 105 4

16 1 46 4 76 4 106 3

17 4 47 2 77 1 107 4

18 3 48 1 78 4 108 3

19 2 49 2 79 3 109 2
20 2 50 3 80 1 110 2
21 4 51 2 81 1 111 2
22 1 52 4 82 4 112 1
23 3 53 4 83 1 113 4
24 2 54 4 84 3 114 2
25 3 55 3 85 2 115 2
26 2 56 2 86 3 116 2
27 3 57 1 87 2 117 3
28 4 58 2 88 3 118 3
29 1 59 1 89 3 119 4
30 4 60 3 90 2 120 3
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